





QUOTATION

Quotation for:

Autoquip (GB) Limited Yew Tree Barn Mulberry Hill Chilham Canterbury Kent CT4 8AH

Our Reference Account Code AUTOCAN1

Created: 08/11/2018 Quote Expires: -

Product List

	Code / Description	Price (GBP)	Qty	Total (GBP
	0-605-32 Remotely-Switched Double-Pole Battery Isolator - 250A 12V	80.07	Ea x 2	160.14
	https://www.durite.co.uk/itm/i/d/060532			
	<mark>0-564-02</mark> Back-up Alarm - 97dB(A) 12-48V	11.55	Ea x 2	23.10
	https://www.durite.co.uk/itm/i/d/056402			
	0-441-00 Amber High Intensity 6 LED Slimline Warning Light - 12/24V	Nett <u>26.80</u> Quote 24.20	Ea x 2	48.4
	https://www.durite.co.uk/itm/i/d/044100			
	1-103-10 Positive Metric Battery Terminal with 10mm Stud	163.54	Pk 100 x 1	163.5
	https://www.durite.co.uk/itm/i/d/110310			
<u></u>	2-103-10	163.54	Pk 100 x 1	163.5

PAGE 1 OF 4 CONTINUES ON NEXT PAGE...







0-523-58 Nett 21.64 Ea x 5 97.40 Z. 8-32V Hour Meter Quote 19.48 https://www.durite.co.uk/itm/i/d/052358 0-235-01 14.97 Ea x 1 14.97 Assorted Mini, Blade and Maxi Fuse Kit https://www.durite.co.uk/itm/i/d/023501 0-780-51 3.98 7.96 Ea x 2 Off/On Single-Pole One-Illumination Two-Position Rocker Switch Body https://www.durite.co.uk/itm/i/d/078051 0-795-18 0.80 0.80 Fax1 M Hazard Beacon Legend for Single-Illuminated Rocker Switch https://www.durite.co.uk/itm/i/d/079518 0-795-45 0.80 Ea x 1 0.80 æ Power Legend for Single-Illuminated Rocker Switch https://www.durite.co.uk/itm/i/d/079545 0-002-92 4.13 Pk 25 x 2 8.26 Black Nylon P Cable Clips for 6-9mm diameter cable https://www.durite.co.uk/itm/i/d/000292 0-603-00 3.45 Ea x 2 6.90 On/Off Toggle Switch with Nickel Plated Brass Lever - 10A at 28V https://www.durite.co.uk/itm/i/d/060300

PAGE 2 OF 4 CONTINUES ON NEXT PAGE...







	0-008-54 Tinned Copper Cable Sockets - 8.20mm Cable 10.00mm Hole https://www.durite.co.uk/itm/i/d/000854	3.43	Pk 10 x 1	3.43
	0-376-90 Blade Fuse Holder with Flying Leads and Cover- Maximum 30A Continuous https://www.durite.co.uk/itm/i/d/037690	7.26	Pk 5 x 2	14.52
	0-330-17 Black Nylon Heavy-Duty Convoluted Un-Split Tubing - 17NW x 50m https://www.durite.co.uk/itm/i/d/033017	52.38	50m x 2	104.76
	5-557-05 Red PVC Adhesive Tape - 19mm x 5m https://www.durite.co.uk/itm/i/d/555705	0.44	Ea x 5	2.20
	5-557-01 Black PVC Adhesive Tape - 19mm x 5m https://www.durite.co.uk/itm/i/d/555701	0.38	Ea x 5	1.90
	0-333-62 Red Heatshrink Polyolefin Tubing - 12.7mm x 5m https://www.durite.co.uk/itm/i/d/033362	4.41	5m x 1	4.41
	0-333-12 Black Heatshrink Polyolefin Tubing - 12.7mm https://www.durite.co.uk/itm/i/d/033312	3.55	5m x 1	3.55
Subtotal	Normal Nett Value (GBP):		alue (GBP):	846.58

PAGE 3 OF 4 CONTINUES ON NEXT PAGE...



830.58

Quote Value (GBP):





 Total
 Normal Nett Value (GBP):
 846.58

 Quote Value Excl. VAT (GBP):
 830.58

VAT (20.00%): 166.12

Total Quote Value Incl. VAT (GBP): 996.70

Quotation issued subject to Durite terms and conditions, a copy of which can be obtained on request or visit our Terms of Business page at https://www.durite.co.uk/terms-of-business. This quotation does not guarantee availability of products at time of your acceptance. Durite reserves the right to cancel a quotation at any time.

